714

w— ———

SEerron ). — SeteciED EVEN  PROBIEMS O

Mran 6'%3 CoS(X+J) = £ 1(”05/0) = £
(xy)=>(4,-1) \
(peg valuts in, “5’“??)

Conttriett

Aen /@«(J_?—-—): 4.1 = O

%yg)—>(1,0) X‘z—f—%?

yn S S L)

St s
() > (2,9) -9y (i)~ (40) (x- 1) ra*
- ¢ & Bt ¢l
- i 2 1 "(rm—f-
Chomge (i) =(os) " T o wol
Xé& X -1 Lx e
Dnower - DME. (S wag)
y Y . (X??’—Jl)(x -\ )
e 2 2 = v 2, 2
(%g) > (90) ¥ 7Y f Xg) > (o O )
S'Im//rﬂ‘]%

U /‘iﬁ a.l9,e4~ra

’gw Xz—aq— = O
Q()? /o ° P&f'f ralaes jn

“/’\“y’ contrh u..??_



# 2 507 o
—//} Y o = xsml_g Xz, |
(192 X?’ Qu* = -
1+ d V24 /;\X_—/—%a,
_ S’(\n\} s
IS’/ng I < /éf[ = o | € {
' . X Siw j _/L ‘
g | .IXS(»\)' < e 2y < 5 1 (XS"V\J/J
é;mce /)(J"/‘n;,/ e contrnuoul at (7 0)
ot /&-}’Vl /XS’/‘Kéy/ - O , wé Lowe
Xg)»c00)
4% e S g uchn‘? 250 a}o&/
‘g‘m )(25’/‘14; .o

(X,y)__;(o/ O) Xl+25"
#
(57) 9 * Jj T 010

%>o N

| B o oloes 1ol

R /vyt ﬁw”“ <xist, o
Tw Exauwpb L
(5 y) - ! -

% /7/ XL*' é’
on e Curved [x = o} } Lot = O
{y=0)

X:}/L/}} 6%5‘:‘7{

;—_—> 7L£__( 7"'—«/9'0&7"4—5“4/1\0“4——0 ’&W?— 0,4924 M.of C/{,},’/,



7o
(/‘/.L) =2 = ()c_ Q_YQ')

o /(X’%*)—‘ AT SN
(?(#a)
:> 'gj«n. X% -/—jz l
(X’ ,-2—)—-)(01(,!0) Xz'/—il"‘”iz Do?—) ho'/ 9}03_7",
# 38 xy
%/Ylijv y7~+x/7; ) (K,ﬂ)iz/a/p)
17 ) (X‘,Z}; /0,0]
/s Ml[ fauf[w oS att /o’ 0) ) S ca
X & ‘
X27‘X7,+72 - O [74/%4( X=0 WJ:O
L b X y
X2+)(;+/7' -3 /f X=7,

= A f/xrj) O/oé./ mo? @X/‘J/»
gl =90



